
Association of Accounting Technicians of Sri Lanka

Questions and Suggested Answers
(AA 12)

QUANTITATIVE METHODS FOR BUSINESS
(QMB)

January 2017 Examination - AA1 Level

Association of Accounting Technicians of Sri Lanka
No. 540, Ven. Muruththettuve Ananda Nahimi Mawatha,

Narahenpita, Colombo 05.

Tel : 011-2-559 669

A publication of the Education and Training Division





1.4  
 
 
 
 
 
 
 
 
 
 E(X) = ∑ X.P(x) 
          = 3500 
 Answer (2) 
 

1.5 A    }  P ^1 + r &n    p = 4 000 000 r = 0.08 n = 4 
        = 4 000 000X 1.08 4 
        =5 441 955.84 
 Interest  = 5 441 955.84 - 4 000 000 
          = 1 441 955.84 
 
  I = Prt    p = 4 000 000 r = 0.08 t = 4 
     = 4 000 000 X 0.08 X 4 
    = 1 280 000 
 Difference between two interest  =161 955.84 
 
 Answer (3) 
 
1.6 Answer (2) 
 
1.7 
 a = 2 
 a + 3d = 20 
 2 + 3d = 18 
       3d = 18  
         d = 6   
 

Answer (3)  
 

x P(x) X. P(x) 

2500 0.30 750 

3500 0.45 1575 

4500 0.20 900 

5500 0.05 275 

E(X) 3500 
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1.8 BEP =  61 000 
  (69- 29) 
          = 1525   Answer (4)  
 
1.9 Y  = T × S Y = 1800 S = 75% 
 1 800  = T × 0.75 
 T   = 2 400  Answer (2) 
 
1.10 S = - 40%   Answer (1) 
 
1.11 Total Income of the month  = Rs 240 000  × 125 
                     25 
     = Rs. 1 200 000 
 Selling price per unite  = Rs. 1 200 000 
                     200 
     = Rs.6 000 
 

1.12 
o

nP  = 100
200
300

  

  = 150 
 
1.13 1   Index numbers by their nature give only general indications of changes over a period of time. 

 2 So many methods are used to calculate the index numbers and different methods give 
different results. 

 3 Index numbers can be manipulated by taking a freak period as the base period so that the 
desired conclusions could be obtained but can mislead the viewers. 

 4 Weighting factors can become out of date 

 5 Generally, samples are used to obtain data for index number calculations and therefore 
information obtained might be biased, incomplete or false. 

 6 Index numbers can be misinterpreted by the uniformed laymen. 

 
1.14 (10 / 25) = 0.4 = 40% 
 
1.15 (10 / 20) = 0.5 = 50% 







(a)  Laspeyre’s Price Index ( 01LP ) = 100
)qP(
)qP(

00

01 




  

     = 100
1865000
2060000

  

     = 110.45% 
 
 

P1  q0 P0  q0 

1150  1100 = 1265000 850  1100= 935000 

610  500     = 305000 600  500 = 300000 

350  1400   = 490000 450  1400 = 630000 

2060000 1865000 

(04 marks) 

(b)  

Month Power Generation (Units) 
January 750 000 X 20%     = 150 000 
February 150 000 + 13 500 = 163 500 
March 163 500 - 15 000 = 148 500 
April                                   135 500 
May                                    90 000 
June                                    63 000 

 
                                   750 000 

 
                             

 No Of Units % Degrees 
For January   150,000.00                 20.00               720  
For February   163,500.00                 21.80               78.480  
For March   148,500.00                 19.80               71.280  
For April   135,000.00                 18.00               64.80  
For May      90,000.00                 12.00               43.20  
For June      63,000.00                    8.40               30.240  

   750,000.00             100.00            3600  
 

(06 marks) 
(Total 10 marks) 



(a)         

 (i)  Mean        =  ∑ fX 
                       ∑ f 
            =  410 
                    100 
            =  4.1 

(ii) 
 

Standard Deviation =       ∑ fX2   -     ∑ fX  2 

                       ∑  f             ∑  f 
   

Standard Deviation =      2230       -        410   2 

                  100                 100 
 

     =    5.49    

 =   2.34 

(a) Second Method                                     A = 5 

                                                           

 

 

 

 

(i) Mean       = A +    ∑ fd 
                              ∑ f 
           =   5  +    -90 
                          100 
           =  4.1 
 
 

Standard Deviation  =       ∑ fd2   -     ∑ fd    2 

                               ∑  f            ∑  f 
   
   Standard Deviation  =      630       -          - 90    2 

                          100                  100 
     
         =   2.34 

 

Height X f d fx fx2 
1-3 2 50 -3 -150 450 
4-6 5 30 0 0 0 
7-9 8 20 3 60 180 

  100  -90 630 





(a)  

 M1 

  

 

NPV      = Rs. 9.0450 or 9.0444 

 

M2 

Years Cash Flow Discount Factors 
Present 
value 

Present 
value 

 
(Rs.’ 000) 

  
(Rs.’000) (Rs.’000) 

0 -50 1/1.090     or 1 -50 -50 
1 15 1/1.091     or 0.9174 13.7615 13.761 
2 15 1/1.092      or   0.8417 12.6252 12.6255 
3 10 1/1.093      or 0.7722 7.7218 7.722 
4 15 1/1.094     or  0.7084 10.6264 10.626 

    

           
(5.2651) -5.2655 

 

NPV      =Rs.  (5.2651 )or (5.2655) 

    

(b)    Highest positive NPV value given by machine M1 

 Therefore machine M1 should be purchase. 

(10 marks) 

Years Cash Flow Discount Factors 
Present 
value 

Present 
value 

 
(Rs.’ 000) 

  
(Rs.’000) (Rs.’000) 

0 -60 1/1.090     or 1 -60 -60 
1 20 1/1.091     or 0.9174 18.3486 18.348 
2 20 1/1.092      or   0.8417 16.8336 16.834 
3 20 1/1.093      or 0.7722 15.4437 15.444 
4 26 1/1.094     or  0.7084 18.4191 18.4184 

    

              
9.0450  9.0444 



(A) 

(a)   

   

                      OR 

  

 

 

 

 

68% or 68.26% 

 

(b)   

X : Exam marks 

µ  =76  σ=15 

Z  =  X - µ 
        σ 
Z =  X - 76 35% 
        15   0.3500 

 

 1.04 =  X – 76                                                                    15% 
     15 
 
X = 91.6
 
X = 92 
 76 
Minimum Marks 92  

(05 marks) 



(B) b  = n∑XY - ∑X ∑Y 
           n∑X2 – (∑X)2 

 
  = 5 X 26660 – 367   x   361 

                5 x 27859 – (367)2 
  =  0.1765 

 a  =    – b  

 a    = 361 – 0.1765 x 367 
        5                       5 
 a   =  59.24 
 
Regression line  Y  = a + bx 
             
         Y  = 59.24 + 0.1765X 

(06 marks) 
 
(C)   
 (a) 
      Y   

  X 
 

(b) Between X & Y have positive linear correlation  
 
 

(C)           r   =                    n ∑ XY -  ∑ X . ∑ Y 

                   √ (n ∑ X2 -  (∑ X)2 ) (n ∑ Y2 -  (∑ Y)2 ) 

 

          r   =                      8 X 1373 – 66 X 138 

                   √ (8 X 654 -662 ) (8 X 2930 - 1382 ) 

 
   = 0.9560 

(07 marks) 

(Total 20 marks) 
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